Pl

S7592B

/‘B‘

until each boltis fully secured

Fasten each bolt by hand until it can not be screwed
any further - Use the allan wrench to fasten evenly

A 4PCS|E| &P |1pC o= |4PCS
M6X40 M6X20
I () 3PCS @\
B » F <p |2pcs|d | [ [1SET
C °))))))))))))))))))))))))))) 5PCS G @?_)))))))»» 2PCS
M8X50 M8X35
D 0%8 pcS|H| o= |1PrC




P2




	页 1
	页 2



